

BETHLEHEM-CARROLL/WENTWORTH

42780

X-A005(012)

PROJECT: BETHLEHEM-CARROLL/WENTWORTH

**STATE PROJECT NUMBER: 42780** 

FED. PROJECT NUMBER: X-A005(012)

DATE BIDS OPEN:

October 15, 2020, 2:00

SCOPE OF WORK:

LOCATION:

Resurfacing of US 302 and NH 25

COMPLETION DATE:

September 24, 2021 Coos, Grafton Awarded To: J HUTCHINS INC

88 ROGERS LANE

RICHMOND, VT 05477

Amount: Award Date: \$2,537,354.71 **Certified by:** 

Certified by: PETER.E.STAMNAS

Director of Project Development

#### **Summary of Bidders**

Contractor	<b>Bid Amount</b>	Rank
J HUTCHINS INC	\$2,537,354.71	Α
88 ROGERS LANE, RICHMOND VT 05477		
PIKE INDUSTRIES, INC.	\$2,636,607.75	В
3 EASTGATE PARK ROAD, BELMONT NH 03220		
GMI ASPHALT LLC	\$2,874,520.54	С
288 LACONIA ROAD, BELMONT NH 03220		



BETHLEHEM-CARROLL/WENTWORTH
42780

X-A005(012)

				1	PS&E	88 ROG	CHINS INC IERS LANE ND, VT 05477	3 EASTGAT	STRIES, INC. E PARK ROAD T, NH 03220
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total

#### **Items**

202.7	REMOVAL OF GUARDRAIL	LF	10,312.50	\$2.25	\$23,203.13	\$2.50	\$25,781.25	\$2.50	\$25,781.25
202.843	REMOVAL OF LIGHT POLE	U	7.00	\$900.00	\$6,300.00	\$750.00	\$5,250.00	\$1,100.00	\$7,700.00
203.5561	EAGRT PLATFORM PREFERRED	U	24.00	\$1,200.00	\$28,800.00	\$1,375.00	\$33,000.00	\$1,700.00	\$40,800.00
203.5571	EAGRT PLATFORM PREFERRED, TL 2 - 25'	U	2.00	\$1,500.00	\$3,000.00	\$1,815.00	\$3,630.00	\$1,650.00	\$3,300.00
203.5596	GUARDRAIL E-2 PLATFORM	LF	379.00	\$25.00	\$9,475.00	\$10.00	\$3,790.00	\$22.00	\$8,338.00
206.1	COMMON STRUCTURE EXCAVATION	CY	3.63	\$18.00	\$65.34	\$150.00	\$544.50	\$600.00	\$2,178.00
206.19	COMMON STRUCTURE EXCAVATION EXPLORATORY	CY	3.15	\$70.00	\$220.50	\$165.00	\$519.75	\$125.00	\$393.75
304.301	CRUSHED GRAVEL	CY	.52	\$65.00	\$33.80	\$500.00	\$260.00	\$1,000.00	\$520.00
304.32	CRUSHED GRAVEL FOR SHOULDER LEVELING	TON	1,459.50	\$38.00	\$55,461.00	\$25.55	\$37,290.23	\$30.00	\$43,785.00
403.11023	HBP-BINDER, MM	TON	1,825.82	\$100.00	\$182,582.00	\$66.00	\$120,504.12	\$71.00	\$129,633.22
403.11841	HBP-1/2" POLYMER MODIFIED WEARING, MM, QC/QA TIER 1	TON	9,426.00	\$100.00	\$942,600.00	\$79.00	\$744,654.00	\$76.00	\$716,376.00
403.11842	HPB-1/2" POLYMER MODIFIED WEARING, MM, QC/QA TIER 2	TON	1,897.00	\$100.00	\$189,700.00	\$79.00	\$149,863.00	\$79.00	\$149,863.00
403.12	HOT BITUMINOUS PAVEMENT, HAND METHOD	TON	19.43	\$200.00	\$3,886.00	\$275.00	\$5,343.25	\$150.00	\$2,914.50
403.16	PAVEMENT JOINT ADHESIVE	LF	96,196.00	\$0.30	\$28,858.80	\$0.05	\$4,809.80	\$0.27	\$25,972.92
403.4	MATERIAL TRANSFER VEHICLE (MTV)	TON	11,889.00	\$2.50	\$29,722.50	\$1.00	\$11,889.00	\$2.00	\$23,778.00
410.22	ASPHALT EMULSION FOR TACK COAT	GAL	12,065.00	\$3.50	\$42,227.50	\$3.25	\$39,211.25	\$4.00	\$48,260.00
411.1	HOT BITUMINOUS CONCRETE LEVELING COURSE	TON	2,933.00	\$100.00	\$293,300.00	\$74.00	\$217,042.00	\$69.00	\$202,377.00
411.3	PLANT MIX SURFACE TREATMENT (ASPHALT CEMENT), PAVER SHIM	TON	1,457.00	\$75.00	\$109,275.00	\$78.00	\$113,646.00	\$71.50	\$104,175.50
417.	COLD PLANING BITUMINOUS SURFACES	SY	26,864.00	\$3.00	\$80,592.00	\$1.80	\$48,355.20	\$3.50	\$94,024.00
417.1181	COLD PLANING BITUMINOUS SURFACES, 18" WIDE X 1" DEEP	LF	1,836.00	\$3.25	\$5,967.00	\$4.00	\$7,344.00	\$3.00	\$5,508.00
565.81	REHABILITATION OF BRIDGE APPROACH RAIL	U	4.00	\$4,000.00	\$16,000.00	\$1,500.00	\$6,000.00	\$365.00	\$1,460.00
604.0007	POLYETHYLENE LINER	EA	50.00	\$150.00	\$7,500.00	\$155.00	\$7,750.00	\$135.00	\$6,750.00
604.4	RECONSTRUCTING/ADJUSTING CATCH BASIN & DROP INLET	LF	50.00	\$450.00	\$22,500.00	\$415.00	\$20,750.00	\$625.00	\$31,250.00
606.000	STEEL BEAM FOR BEAM GUARDRAIL	LF	100.00	\$12.00	\$1,200.00	\$14.00	\$1,400.00	\$14.00	\$1,400.00

Wednesday, October 21, 2020



BETHLEHEM-CARROLL/WENTWORTH
42780

X-A005(012)

					PS&E	88 RO	TCHINS INC GERS LANE DND, VT 05477	3 EASTGA	DUSTRIES, INC. ITE PARK ROAD INT, NH 03220
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
606.012	W6X9 STEEL POST REPLACEMENTS FOR BEAM GUARDRAIL POSTS	EA	6.00	\$75.00	\$450.00	\$80.00	\$480.00	\$100.00	\$600.00
606.0122	W6X9 STEEL POST ASSEMBLIES FOR BEAM GUARDRAIL POSTS	EA	6.00	\$18.00	\$108.00	\$20.00	\$120.00	\$20.00	\$120.00
606.1254	BEAM GUARDRAIL (TERMINAL UNIT TYPE EAGRT, TL 3) (STEEL POST)	U	4.00	\$2,800.00	\$11,200.00	\$3,600.00	\$14,400.00	\$3,600.00	\$14,400.00
606.1255	BEAM GUARDRAIL (TERMINAL UNIT TYPE EAGRT, TL 2) (STEEL POST)	U	7.00	\$2,600.00	\$18,200.00	\$3,600.00	\$25,200.00	\$3,600.00	\$25,200.00
606.12551	BEAM GUARDRAIL (TERMINAL UNIT TYPE EAGRT, TL 2 - 25') (STEEL POST)	U	2.00	\$2,800.00	\$5,600.00	\$3,100.00	\$6,200.00	\$3,100.00	\$6,200.0
606.127	BEAM GUARDRAIL (TERMINAL UNIT TYPE G-2) (STEEL POST)	U	2.00	\$900.00	\$1,800.00	\$1,150.00	\$2,300.00	\$1,200.00	\$2,400.0
606.12851	BEAM GUARDRAIL (BRIDGE APPROACH UNIT)(MODIFIED)	U	4.00	\$1,500.00	\$6,000.00	\$1,950.00	\$7,800.00	\$2,000.00	\$8,000.0
606.1296	BEAM GUARDRAIL (TERMINAL UNIT TYPE E-2) (STEEL POST)	LF	379.00	\$35.00	\$13,265.00	\$44.00	\$16,676.00	\$44.00	\$16,676.0
606.18001	31" W-BEAM GUARDRAIL WITH 8" OFFSET BLOCK (STEEL POST)	LF	9,712.50	\$25.00	\$242,812.50	\$23.50	\$228,243.75	\$25.00	\$242,812.5
606.91254	RESETTING TERMINAL UNIT (TYPE TL 3 EAGRT) (STEEL POST)	U	10.00	\$650.00	\$6,500.00	\$1,000.00	\$10,000.00	\$1,000.00	\$10,000.0
606.91255	RESETTING TERMINAL UNIT (TYPE TL 2 EAGRT) (STEEL POST)	U	3.00	\$650.00	\$1,950.00	\$1,000.00	\$3,000.00	\$1,000.00	\$3,000.0
608.2401	4" CONCRETE SIDEWALK	SY	32.30	\$65.00	\$2,099.50	\$55.00	\$1,776.50	\$100.00	\$3,230.0
608.54	DETECTABLE WARNING DEVICES, CAST IRON	SY	2.75	\$425.00	\$1,168.75	\$375.00	\$1,031.25	\$400.00	\$1,100.0
609.01	STRAIGHT GRANITE CURB	LF	4.12	\$80.00	\$329.60	\$225.00	\$927.00	\$150.00	\$618.0
609.5	RESET GRANITE CURB	LF	47.28	\$25.00	\$1,182.00	\$40.00	\$1,891.20	\$75.00	\$3,546.0
609.811	BITUMINOUS CURB, TYPE B (4" REVEAL)	LF	1,710.00	\$6.75	\$11,542.50	\$8.25	\$14,107.50	\$7.00	\$11,970.0
616.650	TRAFFIC SIGNAL DETECTOR LOOP 6 FT X 50 FT	EA	11.00	\$950.00	\$10,450.00	\$1,415.00	\$15,565.00	\$1,200.00	\$13,200.0
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.0
618.7	FLAGGERS	HR	1,700.00	\$39.00	\$66,300.00	\$40.00	\$68,000.00	\$38.00	\$64,600.0
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$130,000.00	\$130,000.00	\$89,325.00	\$89,325.00	\$75,000.00	\$75,000.0
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	2.00	\$3,200.00	\$6,400.00	\$1,975.00	\$3,950.00	\$2,000.00	\$4,000.0
619.279	AUTOMATED TRAILER-MOUNTED SPEED LIMIT SIGN	U	2.00	\$1,300.00	\$2,600.00	\$1,100.00	\$2,200.00	\$2,000.00	\$4,000.0
621.2	RETROREFLECTIVE BEAM GUARDRAIL DELINEATOR	EA	146.00	\$4.85	\$708.10	\$5.00	\$730.00	\$5.00	\$730.0
621.31	SINGLE DELINEATOR WITH POST	EA	121.00	\$42.00	\$5,082.00	\$55.00	\$6,655.00	\$55.00	\$6,655.0
621.32	DOUBLE DELINEATOR WITH POST	EA	15.00	\$45.00	\$675.00	\$60.00	\$900.00	\$60.00	\$900.0

# New Hampshire Department of Transportation

#### **ABC Bid Data**

BETHLEHEM-CARROLL/WENTWORTH

42780

X-A005(012)

#### PS&F J HUTCHINS INC PIKE INDUSTRIES INC. 3 EASTGATE PARK ROAD RICHMOND, VT 05477 BELMONT, NH 03220 Item No. Description Unit Quantity **Unit Price** Total Unit Price Total **Unit Price** Total 628.2 SAWED BITUMINOUS PAVEMENT LF \$2.50 \$196.63 \$2.65 \$10.00 \$786.50 78.65 \$208.42 632.0104 RETROREFLECTIVE PAINT PAVE. MARKING, 4" LINE LF 346,487.00 \$0.25 \$86,621.75 \$0.22 \$76,227.14 \$0.22 \$76,227.14 632.01049 SHORT TERM PAVEMENT MARKINGS, 4" LINE LF \$0.15 \$24.60 \$3.00 \$492.00 164.00 \$3.06 \$501.84 632.1104 PREFORMED RETROREFLECTIVE TAPE, TYPE I LF 1,132.00 \$1.25 \$1,415.00 \$1.80 \$2,037.60 \$0.75 \$849.00 (REMOVABLE) 4" LINE 632.1118 PREFORMED RETROREFLECTIVE TAPE, TYPE I LF 164.00 \$5.00 \$820.00 \$5.00 \$3.75 \$615.00 \$820.00 (REMOVABLE) 18" LINE 632.3104 RETROREFLECT. THERMOPLAS. PAVE. MARKING, 4" LF 1,132.00 \$2.25 \$2,547.00 \$3.06 \$3,463.92 \$3.00 \$3,396.00 LINE RETROREFLECT. THERMOPLAS. PAVE. MARKING, 18" 632.3118 LF 164.00 \$5.00 \$820.00 \$9.00 \$1,476.00 \$9.19 \$1,507.16 LINE 632.32 RETROREFLECT. THERMOPLAS. PAVEMENT MARKING, SF 355.00 \$9.50 \$3,372.50 \$10.00 \$3,550.00 \$10.21 \$3,624.55 SYMBOL OR WORD 645.44 TEMPORARY SLOPE MATTING TYPE D (WILDLIFE SY 13,124.00 \$3.20 \$41,996.80 \$1.50 \$19,686.00 \$2.00 \$26,248.00 FRIENDLY) 645.512 COMPOST SOCK FOR PERIMETER BERM LF 1,610.00 \$5.25 \$8,452,50 \$1.75 \$2,817.50 \$5.00 \$8,050.00 645.531 SILT FENCE LF \$3.30 \$3,220,00 1.610.00 \$5.313.00 \$1.75 \$2.817.50 \$2.00 646.41 TURF ESTABLISHMENT WITH MULCH, TACKIFIERS AND SY 13,124.00 \$3.40 \$44,621.60 \$0.25 \$3,281.00 \$3.50 \$45,934.00 HUMUS 692. MOBILIZATION U \$155,203.63 \$125,355.00 1.00 \$155,203.63 \$125,355.00 \$105,000.00 \$105,000.00 MISCELLANEOUS TEMPORARY EROSION AND 699. 10,000.00 \$10,000.00 \$1.00 \$10,000.00 \$1.00 \$10,000.00 \$1.00 SEDIMENT CONTROL 1008.251 ALTERATIONS AND ADDITIONS AS NEEDED -3,000.00 \$1.00 \$3,000.00 \$1.00 \$3,000.00 \$1.00 \$3,000.00 TEMPORARY PEDESTRIAN ACCOMMODATIONS 1010.15 **FUEL ADJUSTMENT** 40,000.00 \$1.00 \$40,000.00 \$40,000.00 \$1.00 \$40,000.00 \$1.00 ASPHALT CEMENT ADJUSTMENT 1010.2 50.000.00 \$1.00 \$50,000.00 \$1.00 \$50,000.00 \$1.00 \$50,000.00 1010.3 QUALITY CONTROL QUALITY ASSURANCE (QC/QA) 57.085.00 \$57.085.00 \$57.085.00 \$57.085.00 \$1.00 \$1.00 \$1.00 **ASPHALT** \$3,145,382,53 \$2.537.354.71 \$2,636,607,75 Totals Alt. Totals:

Totals

\$3,145,382.53

\$2,537,354.71

\$2,636,607.75

# New Hampshire ABC Bid Data

BETHLEHEM-CARROLL/WENTWORTH 42780

X-A005(012)

					PS&E	288 LAC	PHALT LLC CONIA ROAD NT, NH 03220		
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total

#### **Items**

Department of Transportation

								-	-
202.7	REMOVAL OF GUARDRAIL	LF	10,312.50	\$2.25	\$23,203.13	\$2.71	\$27,946.88		
202.843	REMOVAL OF LIGHT POLE	U	7.00	\$900.00	\$6,300.00	\$1,110.00	\$7,770.00		
203.5561	EAGRT PLATFORM PREFERRED	U	24.00	\$1,200.00	\$28,800.00	\$1,510.00	\$36,240.00		
203.5571	EAGRT PLATFORM PREFERRED, TL 2 - 25'	U	2.00	\$1,500.00	\$3,000.00	\$1,420.00	\$2,840.00		
203.5596	GUARDRAIL E-2 PLATFORM	LF	379.00	\$25.00	\$9,475.00	\$27.47	\$10,411.13		
206.1	COMMON STRUCTURE EXCAVATION	CY	3.63	\$18.00	\$65.34	\$236.52	\$858.57		
206.19	COMMON STRUCTURE EXCAVATION EXPLORATORY	CY	3.15	\$70.00	\$220.50	\$375.36	\$1,182.38		
304.301	CRUSHED GRAVEL	CY	.52	\$65.00	\$33.80	\$1,912.99	\$994.75		
304.32	CRUSHED GRAVEL FOR SHOULDER LEVELING	TON	1,459.50	\$38.00	\$55,461.00	\$24.00	\$35,028.00		
403.11023	HBP-BINDER, MM	TON	1,825.82	\$100.00	\$182,582.00	\$77.90	\$142,231.38		
403.11841	HBP-1/2" POLYMER MODIFIED WEARING, MM, QC/QA TIER 1	TON	9,426.00	\$100.00	\$942,600.00	\$89.76	\$846,077.76		
403.11842	HPB-1/2" POLYMER MODIFIED WEARING, MM, QC/QA TIER 2	TON	1,897.00	\$100.00	\$189,700.00	\$89.76	\$170,274.72		
403.12	HOT BITUMINOUS PAVEMENT, HAND METHOD	TON	19.43	\$200.00	\$3,886.00	\$170.95	\$3,321.56		
403.16	PAVEMENT JOINT ADHESIVE	LF	96,196.00	\$0.30	\$28,858.80	\$0.26	\$25,010.96		
403.4	MATERIAL TRANSFER VEHICLE (MTV)	TON	11,889.00	\$2.50	\$29,722.50	\$3.00	\$35,667.00		
410.22	ASPHALT EMULSION FOR TACK COAT	GAL	12,065.00	\$3.50	\$42,227.50	\$3.25	\$39,211.25		
411.1	HOT BITUMINOUS CONCRETE LEVELING COURSE	TON	2,933.00	\$100.00	\$293,300.00	\$73.00	\$214,109.00		
411.3	PLANT MIX SURFACE TREATMENT (ASPHALT CEMENT), PAVER SHIM	TON	1,457.00	\$75.00	\$109,275.00	\$73.00	\$106,361.00		
417.	COLD PLANING BITUMINOUS SURFACES	SY	26,864.00	\$3.00	\$80,592.00	\$2.03	\$54,533.92		
417.1181	COLD PLANING BITUMINOUS SURFACES, 18" WIDE X 1" DEEP	LF	1,836.00	\$3.25	\$5,967.00	\$3.39	\$6,224.04		
565.81	REHABILITATION OF BRIDGE APPROACH RAIL	U	4.00	\$4,000.00	\$16,000.00	\$1,745.00	\$6,980.00		
604.0007	POLYETHYLENE LINER	EA	50.00	\$150.00	\$7,500.00	\$135.00	\$6,750.00		
604.4	RECONSTRUCTING/ADJUSTING CATCH BASIN & DROP INLET	LF	50.00	\$450.00	\$22,500.00	\$445.00	\$22,250.00		
606.000	STEEL BEAM FOR BEAM GUARDRAIL	LF	100.00	\$12.00	\$1,200.00	\$16.28	\$1,628.00		

Wednesday, October 21, 2020



BETHLEHEM-CARROLL/WENTWORTH
42780

X-A005(012)

					PS&E	288 LAG	SPHALT LLC CONIA ROAD NT, NH 03220		
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
606.012	W6X9 STEEL POST REPLACEMENTS FOR BEAM GUARDRAIL POSTS	EA	6.00	\$75.00	\$450.00	\$95.35	\$572.10		
606.0122	W6X9 STEEL POST ASSEMBLIES FOR BEAM GUARDRAIL POSTS	EA	6.00	\$18.00	\$108.00	\$23.26	\$139.56		
606.1254	BEAM GUARDRAIL (TERMINAL UNIT TYPE EAGRT, TL 3) (STEEL POST)	U	4.00	\$2,800.00	\$11,200.00	\$3,835.00	\$15,340.00		
606.1255	BEAM GUARDRAIL (TERMINAL UNIT TYPE EAGRT, TL 2) (STEEL POST)	U	7.00	\$2,600.00	\$18,200.00	\$3,835.00	\$26,845.00		
606.12551	BEAM GUARDRAIL (TERMINAL UNIT TYPE EAGRT, TL 2 - 25') (STEEL POST)	U	2.00	\$2,800.00	\$5,600.00	\$3,370.00	\$6,740.00		
606.127	BEAM GUARDRAIL (TERMINAL UNIT TYPE G-2) (STEEL POST)	U	2.00	\$900.00	\$1,800.00	\$1,170.00	\$2,340.00		
606.12851	BEAM GUARDRAIL (BRIDGE APPROACH UNIT)(MODIFIED)	U	4.00	\$1,500.00	\$6,000.00	\$2,095.00	\$8,380.00		
606.1296	BEAM GUARDRAIL (TERMINAL UNIT TYPE E-2) (STEEL POST)	LF	379.00	\$35.00	\$13,265.00	\$51.16	\$19,389.64		
606.18001	31" W-BEAM GUARDRAIL WITH 8" OFFSET BLOCK (STEEL POST)	LF	9,712.50	\$25.00	\$242,812.50	\$24.60	\$238,927.50		
606.91254	RESETTING TERMINAL UNIT (TYPE TL 3 EAGRT) (STEEL POST)	U	10.00	\$650.00	\$6,500.00	\$1,160.00	\$11,600.00		
606.91255	RESETTING TERMINAL UNIT (TYPE TL 2 EAGRT) (STEEL POST)	U	3.00	\$650.00	\$1,950.00	\$1,160.00	\$3,480.00		
608.2401	4" CONCRETE SIDEWALK	SY	32.30	\$65.00	\$2,099.50	\$118.00	\$3,811.40		
608.54	DETECTABLE WARNING DEVICES, CAST IRON	SY	2.75	\$425.00	\$1,168.75	\$500.00	\$1,375.00		
609.01	STRAIGHT GRANITE CURB	LF	4.12	\$80.00	\$329.60	\$180.00	\$741.60		
609.5	RESET GRANITE CURB	LF	47.28	\$25.00	\$1,182.00	\$91.00	\$4,302.48		
609.811	BITUMINOUS CURB, TYPE B (4" REVEAL)	LF	1,710.00	\$6.75	\$11,542.50	\$6.99	\$11,952.90		
616.650	TRAFFIC SIGNAL DETECTOR LOOP 6 FT X 50 FT	EA	11.00	\$950.00	\$10,450.00	\$1,455.00	\$16,005.00		
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00		
618.7	FLAGGERS	HR	1,700.00	\$39.00	\$66,300.00	\$36.62	\$62,254.00		
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$130,000.00	\$130,000.00	\$106,500.00	\$106,500.00		
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	2.00	\$3,200.00	\$6,400.00	\$3,488.44	\$6,976.88		
619.279	AUTOMATED TRAILER-MOUNTED SPEED LIMIT SIGN	U	2.00	\$1,300.00	\$2,600.00	\$4,767.54	\$9,535.08		
621.2	RETROREFLECTIVE BEAM GUARDRAIL DELINEATOR	EA	146.00	\$4.85	\$708.10	\$5.81	\$848.26		
621.31	SINGLE DELINEATOR WITH POST	EA	121.00	\$42.00	\$5,082.00	\$63.95	\$7,737.95		
621.32	DOUBLE DELINEATOR WITH POST	EA	15.00	\$45.00	\$675.00	\$69.77	\$1,046.55		

# New Hampshive Department of Transportation

#### **ABC Bid Data**

BETHLEHEM-CARROLL/WENTWORTH
42780

X-A005(012)

#### GMI ASPHALT LLC PS&F 288 LACONIA ROAD BELMONT, NH 03220 Item No. Description Unit Quantity **Unit Price** Total **Unit Price** Total **Unit Price** Total 628.2 SAWED BITUMINOUS PAVEMENT LF 78.65 \$2.50 \$196.63 \$2.91 \$228.87 LF 632.0104 RETROREFLECTIVE PAINT PAVE. MARKING, 4" LINE 346,487.00 \$0.25 \$86,621.75 \$0.26 \$90,086.62 632.01049 SHORT TERM PAVEMENT MARKINGS, 4" LINE LF 164.00 \$0.15 \$24.60 \$3.58 \$587.12 632.1104 PREFORMED RETROREFLECTIVE TAPE, TYPE I LF 1,132.00 \$1.25 \$1,415.00 \$2.33 \$2,637.56 (REMOVABLE) 4" LINE 632.1118 PREFORMED RETROREFLECTIVE TAPE, TYPE I LF 164.00 \$5.00 \$820.00 \$9.30 \$1,525.20 (REMOVABLE) 18" LINE 632.3104 RETROREFLECT. THERMOPLAS. PAVE. MARKING, 4" LF 1,132.00 \$2.25 \$2,547.00 \$3.49 \$3,950.68 LINE 632.3118 RETROREFLECT. THERMOPLAS. PAVE. MARKING, 18" LF 164.00 \$5.00 \$820.00 \$10.47 \$1,717.08 LINE 632.32 RETROREFLECT. THERMOPLAS. PAVEMENT MARKING, SF 355.00 \$9.50 \$3,372.50 \$11.63 \$4,128.65 SYMBOL OR WORD 645.44 TEMPORARY SLOPE MATTING TYPE D (WILDLIFE SY 13,124.00 \$3.20 \$41,996.80 \$2.02 \$26,510.48 FRIENDLY) 645.512 COMPOST SOCK FOR PERIMETER BERM LF \$5.25 \$8,452,50 \$14,634.90 1,610.00 \$9.09 645.531 SILT FENCE LF 1.610.00 \$3.30 \$2.75 \$4,427.50 \$5.313.00 646.41 TURF ESTABLISHMENT WITH MULCH, TACKIFIERS AND SY 13,124.00 \$3.40 \$44,621.60 \$4.82 \$63,257.68 HUMUS 692. MOBILIZATION U \$155,203.63 \$155,203.63 \$125,000.00 1.00 \$125,000.00 MISCELLANEOUS TEMPORARY EROSION AND 699. 10,000.00 \$1.00 \$10,000.00 \$1.00 \$10,000.00 SEDIMENT CONTROL 1008.251 ALTERATIONS AND ADDITIONS AS NEEDED -3,000.00 \$1.00 \$3,000.00 \$1.00 \$3,000.00 TEMPORARY PEDESTRIAN ACCOMMODATIONS 1010.15 **FUEL ADJUSTMENT** 40,000.00 \$1.00 \$40,000.00 \$1.00 \$40,000.00 ASPHALT CEMENT ADJUSTMENT 1010.2 \$ 50,000.00 \$1.00 \$50,000.00 \$1.00 \$50,000.00 1010.3 QUALITY CONTROL QUALITY ASSURANCE (QC/QA) 57.085.00 \$1.00 \$57.085.00 \$1.00 \$57.085.00 **ASPHALT** \$3,145,382,53 \$2.874.520.54 Totals Alt. Totals:

Totals

\$3,145,382.53

\$2,874,520.54



BETHLEHEM-CARROLL/WENTWORTH 42780 X-A005(012)

			1	A-Bide	der	PS8	ķΕ	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
Items								
202.7	REMOVAL OF GUARDRAIL	LF	10,312.50	\$2.50	\$25,781.25	\$2.25	\$23,203.13	\$2,578.12
202.843	REMOVAL OF LIGHT POLE	U	7.00	\$750.00	\$5,250.00	\$900.00	\$6,300.00	(\$1,050.00)
203.5561	EAGRT PLATFORM PREFERRED	U	24.00	\$1,375.00	\$33,000.00	\$1,200.00	\$28,800.00	\$4,200.00
203.5571	EAGRT PLATFORM PREFERRED, TL 2 - 25'	U	2.00	\$1,815.00	\$3,630.00	\$1,500.00	\$3,000.00	\$630.00
203.5596	GUARDRAIL E-2 PLATFORM	LF	379.00	\$10.00	\$3,790.00	\$25.00	\$9,475.00	(\$5,685.00)
206.1	COMMON STRUCTURE EXCAVATION	CY	3.63	\$150.00	\$544.50	\$18.00	\$65.34	\$479.16
206.19	COMMON STRUCTURE EXCAVATION EXPLORATORY	CY	3.15	\$165.00	\$519.75	\$70.00	\$220.50	\$299.25
304.301	CRUSHED GRAVEL	CY	.52	\$500.00	\$260.00	\$65.00	\$33.80	\$226.20
304.32	CRUSHED GRAVEL FOR SHOULDER LEVELING	TON	1,459.50	\$25.55	\$37,290.23	\$38.00	\$55,461.00	(\$18,170.77)
403.11023	HBP-BINDER, MM	TON	1,825.82	\$66.00	\$120,504.12	\$100.00	\$182,582.00	(\$62,077.88)
403.11841	HBP-1/2" POLYMER MODIFIED WEARING, MM, QC/QA TIER 1	TON	9,426.00	\$79.00	\$744,654.00	\$100.00	\$942,600.00	(\$197,946.00)
403.11842	HPB-1/2" POLYMER MODIFIED WEARING, MM, QC/QA TIER 2	TON	1,897.00	\$79.00	\$149,863.00	\$100.00	\$189,700.00	(\$39,837.00)
403.12	HOT BITUMINOUS PAVEMENT, HAND METHOD	TON	19.43	\$275.00	\$5,343.25	\$200.00	\$3,886.00	\$1,457.25
403.16	PAVEMENT JOINT ADHESIVE	LF	96,196.00	\$0.05	\$4,809.80	\$0.30	\$28,858.80	(\$24,049.00)



BETHLEHEM-CARROLL/WENTWORTH 42780 X-A005(012)

				A-Bide	der	PS	ķЕ	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
403.4	MATERIAL TRANSFER VEHICLE (MTV)	TON	11,889.00	\$1.00	\$11,889.00	\$2.50	\$29,722.50	(\$17,833.50)
410.22	ASPHALT EMULSION FOR TACK COAT	GAL	12,065.00	\$3.25	\$39,211.25	\$3.50	\$42,227.50	(\$3,016.25)
411.1	HOT BITUMINOUS CONCRETE LEVELING COURSE	TON	2,933.00	\$74.00	\$217,042.00	\$100.00	\$293,300.00	(\$76,258.00)
411.3	PLANT MIX SURFACE TREATMENT (ASPHALT CEMENT), PAVER SHIM	TON	1,457.00	\$78.00	\$113,646.00	\$75.00	\$109,275.00	\$4,371.00
417.	COLD PLANING BITUMINOUS SURFACES	SY	26,864.00	\$1.80	\$48,355.20	\$3.00	\$80,592.00	(\$32,236.80)
417.1181	COLD PLANING BITUMINOUS SURFACES, 18" WIDE X 1" DEEP	LF	1,836.00	\$4.00	\$7,344.00	\$3.25	\$5,967.00	\$1,377.00
565.81	REHABILITATION OF BRIDGE APPROACH RAIL	U	4.00	\$1,500.00	\$6,000.00	\$4,000.00	\$16,000.00	(\$10,000.00)
604.0007	POLYETHYLENE LINER	EA	50.00	\$155.00	\$7,750.00	\$150.00	\$7,500.00	\$250.00
604.4	RECONSTRUCTING/ADJUSTING CATCH BASIN & DROP INLET	LF	50.00	\$415.00	\$20,750.00	\$450.00	\$22,500.00	(\$1,750.00)
606.000	STEEL BEAM FOR BEAM GUARDRAIL	LF	100.00	\$14.00	\$1,400.00	\$12.00	\$1,200.00	\$200.00
606.012	W6X9 STEEL POST REPLACEMENTS FOR BEAM GUARDRAIL POSTS	EA	6.00	\$80.00	\$480.00	\$75.00	\$450.00	\$30.00
606.0122	W6X9 STEEL POST ASSEMBLIES FOR BEAM GUARDRAIL POSTS	EA	6.00	\$20.00	\$120.00	\$18.00	\$108.00	\$12.00
606.1254	BEAM GUARDRAIL (TERMINAL UNIT TYPE EAGRT, TL 3) (STEEL POST)	U	4.00	\$3,600.00	\$14,400.00	\$2,800.00	\$11,200.00	\$3,200.00
606.1255	BEAM GUARDRAIL (TERMINAL UNIT TYPE EAGRT, TL 2) (STEEL POST)	U	7.00	\$3,600.00	\$25,200.00	\$2,600.00	\$18,200.00	\$7,000.00
606.12551	BEAM GUARDRAIL (TERMINAL UNIT TYPE EAGRT, TL 2 - 25') (STEEL POST)	U	2.00	\$3,100.00	\$6,200.00	\$2,800.00	\$5,600.00	\$600.00



BETHLEHEM-CARROLL/WENTWORTH 42780 X-A005(012)

				A-Bide	der	PS	λΕ	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
606.127	BEAM GUARDRAIL (TERMINAL UNIT TYPE G-2) (STEEL POST)	U	2.00	\$1,150.00	\$2,300.00	\$900.00	\$1,800.00	\$500.00
606.12851	BEAM GUARDRAIL (BRIDGE APPROACH UNIT)(MODIFIED)	U	4.00	\$1,950.00	\$7,800.00	\$1,500.00	\$6,000.00	\$1,800.00
606.1296	BEAM GUARDRAIL (TERMINAL UNIT TYPE E-2) (STEEL POST)	LF	379.00	\$44.00	\$16,676.00	\$35.00	\$13,265.00	\$3,411.00
606.18001	31" W-BEAM GUARDRAIL WITH 8" OFFSET BLOCK (STEEL POST)	LF	9,712.50	\$23.50	\$228,243.75	\$25.00	\$242,812.50	(\$14,568.75)
606.91254	RESETTING TERMINAL UNIT (TYPE TL 3 EAGRT) (STEEL POST)	U	10.00	\$1,000.00	\$10,000.00	\$650.00	\$6,500.00	\$3,500.00
606.91255	RESETTING TERMINAL UNIT (TYPE TL 2 EAGRT) (STEEL POST)	U	3.00	\$1,000.00	\$3,000.00	\$650.00	\$1,950.00	\$1,050.00
608.2401	4" CONCRETE SIDEWALK	SY	32.30	\$55.00	\$1,776.50	\$65.00	\$2,099.50	(\$323.00)
608.54	DETECTABLE WARNING DEVICES, CAST IRON	SY	2.75	\$375.00	\$1,031.25	\$425.00	\$1,168.75	(\$137.50)
609.01	STRAIGHT GRANITE CURB	LF	4.12	\$225.00	\$927.00	\$80.00	\$329.60	\$597.40
609.5	RESET GRANITE CURB	LF	47.28	\$40.00	\$1,891.20	\$25.00	\$1,182.00	\$709.20
609.811	BITUMINOUS CURB, TYPE B (4" REVEAL)	LF	1,710.00	\$8.25	\$14,107.50	\$6.75	\$11,542.50	\$2,565.00
616.650	TRAFFIC SIGNAL DETECTOR LOOP 6 FT X 50 FT	EA	11.00	\$1,415.00	\$15,565.00	\$950.00	\$10,450.00	\$5,115.00
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$0.00
618.7	FLAGGERS	HR	1,700.00	\$40.00	\$68,000.00	\$39.00	\$66,300.00	\$1,700.00
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$89,325.00	\$89,325.00	\$130,000.00	\$130,000.00	(\$40,675.00)
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	2.00	\$1,975.00	\$3,950.00	\$3,200.00	\$6,400.00	(\$2,450.00)



BETHLEHEM-CARROLL/WENTWORTH 42780 X-A005(012)

	_			A-Bid	der	PS8	ξE	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
619.279	AUTOMATED TRAILER-MOUNTED SPEED LIMIT SIGN	U	2.00	\$1,100.00	\$2,200.00	\$1,300.00	\$2,600.00	(\$400.00)
621.2	RETROREFLECTIVE BEAM GUARDRAIL DELINEATOR	EA	146.00	\$5.00	\$730.00	\$4.85	\$708.10	\$21.90
621.31	SINGLE DELINEATOR WITH POST	EA	121.00	\$55.00	\$6,655.00	\$42.00	\$5,082.00	\$1,573.00
621.32	DOUBLE DELINEATOR WITH POST	EA	15.00	\$60.00	\$900.00	\$45.00	\$675.00	\$225.00
628.2	SAWED BITUMINOUS PAVEMENT	LF	78.65	\$2.65	\$208.42	\$2.50	\$196.63	\$11.79
632.0104	RETROREFLECTIVE PAINT PAVE. MARKING, 4" LINE	LF	346,487.00	\$0.22	\$76,227.14	\$0.25	\$86,621.75	(\$10,394.61)
632.01049		LF	164.00	\$3.00	\$492.00	\$0.15	\$24.60	\$467.40
632.1104	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 4" LINE		1,132.00	\$1.80	\$2,037.60	\$1.25	\$1,415.00	\$622.60
632.1118	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 18" LINE	LF	164.00	\$5.00	\$820.00	\$5.00	\$820.00	\$0.00
632.3104	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 4" LINE	LF	1,132.00	\$3.00	\$3,396.00	\$2.25	\$2,547.00	\$849.00
632.3118	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 18" LINE	LF	164.00	\$9.00	\$1,476.00	\$5.00	\$820.00	\$656.00
632.32	RETROREFLECT. THERMOPLAS. PAVEMENT MARKING, SYMBOL OR WORD	SF	355.00	\$10.00	\$3,550.00	\$9.50	\$3,372.50	\$177.50
645.44	TEMPORARY SLOPE MATTING TYPE D (WILDLIFE FRIENDLY)	SY	13,124.00	\$1.50	\$19,686.00	\$3.20	\$41,996.80	(\$22,310.80)
645.512	COMPOST SOCK FOR PERIMETER BERM	LF	1,610.00	\$1.75	\$2,817.50	\$5.25	\$8,452.50	(\$5,635.00)
645.531	SILT FENCE	LF	1,610.00	\$1.75	\$2,817.50	\$3.30	\$5,313.00	(\$2,495.50)

Wednesday, October 21, 2020 Page 11 of 12



BETHLEHEM-CARROLL/WENTWORTH
42780
X-A005(012)

				A-Bidder		PS&E		
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
646.41	TURF ESTABLISHMENT WITH MULCH, TACKIFIERS AND HUMUS	SY	13,124.00	\$0.25	\$3,281.00	\$3.40	\$44,621.60	(\$41,340.60)
692.	MOBILIZATION	U	1.00	\$125,355.00	\$125,355.00	\$155,203.63	\$155,203.63	(\$29,848.63)
699.	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00	\$0.00
1008.251	ALTERATIONS AND ADDITIONS AS NEEDED - TEMPORARY PEDESTRIAN ACCOMMODATIONS	\$	3,000.00	\$1.00	\$3,000.00	\$1.00	\$3,000.00	\$0.00
1010.15	FUEL ADJUSTMENT	\$	40,000.00	\$1.00	\$40,000.00	\$1.00	\$40,000.00	\$0.00
1010.2	ASPHALT CEMENT ADJUSTMENT	\$	50,000.00	\$1.00	\$50,000.00	\$1.00	\$50,000.00	\$0.00
1010.3	QUALITY CONTROL QUALITY ASSURANCE (QC/QA) ASPHALT	\$	57,085.00	\$1.00	\$57,085.00	\$1.00	\$57,085.00	\$0.00

**Total:** \$2,537,354.71 \$3,145,382.53 (\$608,027.82)

Wednesday, October 21, 2020 Page 12 of 12